C C
‘Pe»’gcwtvq') e P L\}{L stves Dng'
S e v
T Owl. dyet P23 H 5 G
O R Sk oer R
V=Y 5 ® 20 2 55 50
. —— :
V= b 25 ? 3 55 @
N2 2 2 é é 55 30
vee § 2§ 2w
J ] 3 é
\"WQ L 25 20 5 4p 30
. TVt « cvifw]
SVEL w3 O X 20 =20
W= & L 5 =5
W = (o O ¥ bbH = (b
N, WS 5 5o - 55
W= b 5 Y H5 =50
V=3 W=Z 20 "'F 5 =25
Covisived -
\/ ;Z) \‘:}\\}f s A5 - o) 20
{ AU L s 4\—(’[1
Vel, W33 already Vi |
w5 20 10 = HO

- 26 5 ° 60

- - - - 5

5 - - - 10

- - - 50 45

- 5 - 10 | _

v’ e e o

|z 3 H 5 ¢

O ¢ v Qo Q
| ? 2 1o
B > I
- g? ; 5 4 3
- —

_ g{ : g ; b 3
R |

]
G
O

6
N

Fnd pav‘/h frone | 1o 5.
lHow Yo %e‘f Yo 5?
From ‘T[’_Gj, Po:Hn.? b
140-\“ s 3&’1‘ ~}-5 b’
Coom TLoTopath: 3
Mow %,Sef} o 37
Cyow 3 13).pethis ]

How 4o get o ) ¢
> b
T 0T pedh s 0 base
So })o:}”\/\ e 13 (b B .



